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Calculating what you need on the exam to pass
30excm + 70Mark = GO
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Exom = LO-0-10 MoK
0.0

/1

J"anlor inj a\zxfﬂc’r 3

1 Expand + S-'"\P\‘F‘\

A
&y Qa-d) - (2 a9
) ( \: Ya' - 10a-10a+25
L—) = 4at-206+ 1S

Z_ _ |2
c) (77"33\@ x- Z\jAQrZKx 19xy :17;1‘+'§g L

-~ 2k 2y ¥ ty* "9

o KR A s v
~ ”().3(1'77"%‘““

= ax-20 ~dN+7
- o ke
= [N -39

X+ Yx-14
o-M

® 3.q6CE )

(0 \Babs 4ab_3¢ath = 6ab (3+7ab'~ £a

b) Sr-\pff Trinomia ls

“rf—l?% M —2¢ ;')'Q[PH |7Pr]1 ?\I—ﬁzﬁ
Ckery WS, (o D)

1\) \'Li— br-7 M-
(P’ﬂ)(r‘\) /:""H*?



Day 4 Exam Review Factoring.notebook January 19, 2018

. [ -g0  §xS
WA HIX-80 = A (Kb -do) AT Ve
2x+6X%-4) waod L
5
&) Decomy DSIJr'/on
iy ST B
3#—13\(»2%*!0 N 1572
X% 3y 2%-9)
(%-5) 3%~ 2)
) W* Mol
S SO N PR
X (3nt4)-1 (3x44)
Gxed)(x-1)
P ) )L‘
R S
“\nlz Y-12n+9 N - *
n (4n)-3(4n D
(‘-’n-})(v\‘})
I8 N
D Difference o Saaves 0%~ Ib2y

1) \(oxl;:t = (N3
W) 4yt ,_(7,<+%X7x4‘37
(-\3) QSXagljirl5X+qJ)(g%~qj)
SoX*-1629* = 5 ()oyt Qljl)
=2 (Sxmj)(SX-qy
toa' -81b = (o244 Ydat b
= (L‘ql ‘.o\b‘)( Zc\i~3h)( 2a *3‘“)

C) ()fY ‘fr 0‘_ S-MS

\) Q“lfﬂm+%
- (SN\-I—Z)I

1\) \()Ml- 'Qq'm'\ + qr\L = ("l'm ’f3r\3L



Day 4 Exam Review Factoring.notebook January 19, 2018

D°'~\«.‘n

{x‘nsxf?."eg}

&omjc {j’,~553§ 6, j€p1}

/ X X324 xen]

" . {x‘ -qsxswple‘\}




	Page 1
	Page 2
	Page 3

